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NEW QUESTION 1
Refer to the exhibit.

Access-1= debug 12mac event
Access-1= debug destination buffer
| Access-1= page

debug buftfer

2020-05-06:22:32:52. 601427 |12mac-mgrd |LOG_DEBUG | AMM | - | L2ZMAC | L2ZMAC_EVENT |macmgr_m
ac_manager_handle_mac_event{1311), MAC=00:50:79:66:68:01, VLAN=1l, Port=1/1/1 is
trying to be inserted

2020-05-06:22:32:52. 602027 |12mac-mgrd | LOG_DEBUG | AMM | - | L2ZMAC | L2MAC_EVENT |macmgr_m
ac_manager_handle_mac_event(1328), MAC=00:50:79:66:68:01 was successfully inserted

What command will display the debug I2mac events?

A. show module LZMAC

B. show debug terminal

C. show debug buffer module L2MAC
D. show debug all

Answer: C

NEW QUESTION 2
Refer to the exhibit.

Access-1(config-if)# show run int 1/1/1

interface 1/1/1
no shutdown

no routing

vian trunk native 1

vian trunk allowed all

exit
Access-1(config-if)# vlan 100
Access-1(config-vian-100)# exit
Access-1(config)#}

What commands will successfully enable the SVI for vlan 100 on interface 1/1/1 to produce the results displayed in the command show ip interface brief in the
exhibit below?

Interface IP Address Interface Status
link/admin
1/1/2 No Address down/down
1/1/3 No Address down/down
1/1/4 No Address down/down

1/1/5 No Address down/down

v1an100 10.1.1.1/24 up/up

A. Access-1(config)# interface 1/1/1 Access-1(config-if)# routingAccess-1(config-if)}# interface vlan 100Access-1(config-if-vlian)# ip address 10.1.1.1/24

B. Access-1(config)# interface 1/1/1Access-1(config-if)# vlan trunk permit vlan 100 Access-1(config-if)# interface vlan 100Access-1(config-if-vlan)# ip address
static 10.1.1.1/24

C. Access-1(config)# interface vlan 100Access-1(config-if-vlan)# ip address 10.1.1.1/24

D. Access-1(config-if)# vlan 100Access-1(config-vlan)# ip address 10.1.1.1/24

Answer: C

NEW QUESTION 3
Click on the colored box that corresponds with the line that best represents Multicast traffic flow.
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Answer Area
C o — | G = ] = - 2 - J G - =
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Diagram Description automatically generated
Blue Box

NEW QUESTION 4
Match each network protocol to the correct default listening port and transport protocol. Not all answers will be used.

Default Port and Network protocol
Transport protocol

TCP 20, TCP 21 DINS
TCP 23 FTP
TCP 53 HTTPS
TCP 443 Telnet
UDP 20, UDP 21 DHCP
UDP 23
UDP 53
UDP 67

A. Mastered

B. Not Mastered
Answer: A

Explanation:
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Default Port and Network protocol
Transport protocol
Tcp20,TcP21 | _ _Frp_ Q1| DNS

TCP 23 ' Telnet l

TCP 53 | HTTPS I
TCP 443 IT HTTPS __ Telnet

UDP 20, UDP 21 DHCP
UDP 23 |________ |
UDP 53 i DNS [
UDP 67 __DHCP |

NEW QUESTION 5
What is the process where a compute device converts logical data bits into the correct physical representation depending on the media?

A. Demodulation
B. Modulation

C. Propagation
D. Encapsulation

Answer: D

NEW QUESTION 6

What is the login and password combination is used when first configuring an Aruba OS-CX switch from factory defaults?
A. Login admin and password field empty.

B. Login admin and password forgetme!

C. Login admin and password password.

Answer: B

NEW QUESTION 7

What is the binary conversion of the hexadecimal value 0x2001?
A. 0010 0001

B. 0002 0000 0000 0001

C. 0011 0000 0000 0001

D. 0010 0000 0000 0001

Answer: D

NEW QUESTION 8
Match the switching term to the correct definition.
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Term Definition

defines the group of devices that are on the same
network segment that are capable of receiving and
Collision Domain responding to frames destined to FF:FF:FF:FF:FF:FF

CSMA/CD

Broadcast Domain

the FIB used by switches matching known-source mac-
Forwarding Table addresses to the layer one port they are learned on

the mechanism used by Compute NICs and
Switchports operating in half-duplex to detect and
recover from frame collisions

the segment of a network connected by a shared

medium, such as a hub, that is affected when two or

more frames are sent at the same time

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Term Definition

defines the group of devices that are on the same
Broadcast Domain network segment that are capable of receiving and
Collision Domain responding to frames destined to FF:FF:FF:FF:FF:FF

CSMA/CD

Broadcast Domain

the FIB used by switches matching known-source mac-

Forwarding Table AR GRS addresses to the layer one port they are learned on

the mechanism used by Compute NICs and
CSMA/CD Switchports operating in half-duplex to detect and
recover from frame collisions

the segment of a network connected by a shared

Collision Domain medium, such as a hub, that is affected when two or

more frames are sent at the same time

NEW QUESTION 9
Match the available stacking feature to the correct AOS-CX switch model. Stacking features may be used more than once.

Stacking Feature Answer Area

VSF Stacking AOS-CX
VSX Feature Switch Model

6300M
6300F
8320
8400
6400

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Stacking Feature  Answer Area

e

| VSF | Stacking AOS-CX
[ \V/SX Feature Switch Model
| VSF | 6300M
VSF 6300F
| vsx | 8320
VSX 8400
| vSX | 6400

NEW QUESTION 10
Which two statements accurately describe the features of NetEdit? (Choose two.)

A. NetEdit can be used to configure and validate any third-party device that supports SSH and REST access.
B. NetEdit includes trial licensing for up to 10 nodes.

C. NetEdit can perform configuration and compliance validation.

D. NetEdit supports viewing and editing multiple devices using a single deployment plan.

E. NetEdit can run on a mobile device using Android or Apple IOS.

Answer: CD

NEW QUESTION 10
What are two methods for remotely managing an Aruba AOS-CX switch? (Choose two.)

A. SNMPv2c

B. HTTPS

C. USB-C console
D. Telnet

E. SSH

Answer: BE

NEW QUESTION 15
Which two types of routes can be found in the IP routing table of an Aruba AOS-CX switch? (Choose two.)

A. Local
B. EIGRP
C.BGP
D. ISIS
E. RIPng

Answer: AC

NEW QUESTION 17

You need to remote into an AOS-CX switch using SSH in order to update the management IP address for future connections. Unfortunately, you mis-configured
the IP address and are now locked out of the switch.

What command could you have issued before making changes that would have recovered the original switch configuration after ten minutes?

A. checkpoint rollback 10

B. checkpoint auto 10

C. checkpoint auto confirm 10

D. boot system secondary 10

Answer: B

NEW QUESTION 21

Which command can be used to find the serial number of an Aruba OS-CX switch?
A. The command inventory

B. The command version

C. The command show running-configuration

D. The command show system

Answer: D

NEW QUESTION 25
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Refer to the exhibit.

Ethernet adapter Ethernet 3:

Connection-specific DNS Suffix
Description . . . . . . . . . . Killer E2200 Gigabit Ethernet Controller #2 #2 #2

Physical Address. . . . . . . . D8-CB-8A-17-8D-ED
DHCP Enabled. . . . . . . . . . No

Autoconfiguration Enabled . . . Yes

Link-local IPv6 Address . s 3 fe80::dlea:377f:5154:9f53%3(Preferred)
IPv4 Address. . . . . o o 192.168.1.10(Preferred)

Subnet Mask . . . . . . . . . . . : 255.255.255.0
Default Gateway . . . . . . . . . : 192.168.1.1

What is the correct binary conversion of the last two hexadecimal characters of the physical address?

A. 1101 1000
B. 1110 1101
C. 1001 1111 0101 0011
D. 1000 1101 1110 1101

Answer: B

NEW QUESTION 29
What are two OSPF attributes within the hello messages that must match to successfully establish neighbor relationships? (Choose two.)

A. Router ID

B. Priority

C. Hello and Dead intervals
D. Area ID

E. Process ID

Answer: CD

NEW QUESTION 30

The section in blue can be ignored.

SW1(config)# interface 1/1/1-1/1/2

SW1(config-if-<1/1/1-1/1/2)# vlan access 2

SW1(config-if-<1/1/1-1/1/2)# exit

SW1(config)# interface 1/1/11-1/1/17

SW1(config-if-<1/1/11-1/1/17)# vlan access 17

SW1(config-if-<1/1/11-1/1/17)# exit

After completing the above commands, what is the expected output of show vlan with no other vlan commanded having been added?
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SWi# show vlan

VLAN Name Status Rea | .-'E..T - Interface
A0 DEFAULT VLAN 1 up ok lefault 1/1/2

2 ug ok ati 1/1/

11 ug ok ati 1/1/17

12 ug ok static 1/1/17

1 ug ok static s 3 g W i

14 ug ok stati 17

15 ug ok static 1/1/17

16 ug ok static 1/1/17

17 ug ok static 17

SWi# show wvlan
VLAN MName

1 DEFAULT VLAN 1 uf ok
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C
SW1l# show vlan
VLAN Name Status Fea Type Interfaces
2 DEFAULT VLAN 2 ug ok static 1/1/1-1/1/2
17 [T =] ug ok static f1/11-1/1/17
D
SWl# show vlan
VLA Name Status Reason I'y] Interfaces
1 DEFAULT VLAN 1 ug ok default <output omitted>
2 up ok static 1/1/1-1/1/2
17 up ok static 1/1/11-1/1/17
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 34
Refer to the exhibit.

1/1/26
1/1/45
1/1/46
1/1/47
1/1/48
Core - 1# |}

SFP+DAC1
SFP+DAC1
SFP-BT
SFP-BT
SFP-BT
SFP28DAC3
SFP28DAC3
SFP28DAC3
SFP28DAC3
SFP28DAC3
SFP28DAC3

J9281D
J9281D
J8177D
J8177D
J8177D
JL48BA
JL488A
JL488A
JL48BA
JL488A
JL48BA

CN95KBZ00OX
CN95KBZ086
CN96KK232S
CN96KK20R2
CN96KK232F
CN9/KBGOBJ
CN97KBGO57
CN9/KBGOCW
CN97KBGOCX
CN97KBGOD6
CN9/KBGO38

8121-1300
8121-1300
1990-4640
1990-4640
1990-4640
8121-1743
8121-1743
8121-1743
8121-1743
8121-1743
8121-1743

What command (output shown above) gives the optics serial number and part number information?

A. show interface physical

B. show interface transceiver
C. show inventory

D. show interface optics

Answer: B

NEW QUESTION 39
Refer to the exhibit.
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VLAN Name Mode Mapping
ik DEFAULT VLAN 1 native-untagged port
10 Sales trunk porit
20 Service trunk port
30 Customer trunk pPoOEL

Which command produces the above output?

A. show interface port 1/1/10 trunk

B. show vlan port 1/1/10

C. show trunk port 1/1/10 extended

D. show interface port 1/1/10 switchport

Answer: C

NEW QUESTION 44
Refer to the exhibit.

Access-1 Access-2

1/1/2 1/1/1

1/1/3 1/1/4
1/1/5

J:.

=
PC-1 Access-3
The command show LLDP neighbor-info gets typed into Access-1. All switches are Aruba OS-CX switches. What is the output of this command?
A LOCAL-PORT CHASSIS-ID PORT-ID PORT-DESC TTL SYS-MAME
1/1/1 90:20:c2:bced:00  1/1/2 1/1/2 120 Access-2
1/1/5 90:20:c2:bcef:00 1/1/2 1/1/2 120 Access-3
B LOCAL-PORT CHASSIS-ID PORT-ID PORT-DESC  TTL SYS-MAME
1/1/1 90:20:c2:bced:00 1/1/2 1/1/2 120 Access-2
5 LOCAL-PORT CHASSIS-ID PORT-ID PORT-DESC  TTL SYS-MAME
1/1/2 90:20:c2:bcced:00  1/1/1 1/1/1 120 Access-2
1/1/2 90:20:c2:bcef:00 1/1/5 1/1/5 120 Access-3
D LOCAL-PORT CHASSIS-ID PORT-ID PORT-DESC TTL SYS-MAME
1/1/2 90:20:c2:bced:00  1/1/1 1/1/1 120 Access-2
A. Option A
B. Option B
C. Option C
D. Option D
Answer: D

NEW QUESTION 45
What are two available options as part of a DHCP offer message? (Choose two.)

A. SSID

B. DNS server IP
C. Subnet Mask
D. LLDP-MED

E. VLANID
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Answer: BC

NEW QUESTION 48
Refer to the exhibit.

Core-1# show interface mgmt
Address Mode static
Admin State up
Mac Address 90:20:c2:
IPv4 address/subnet-mask 10.1.1.1/2
Default gateway IPv4 10:.1.1.254
IPve address/prefix
IPve link local address/prefix
Default gateway IPvé6
Primary Nameserver
Secondary Nameserver

Core-1# ping 10.1.1.254

connect: Network is unreachable

Core-1%

What change on Core-1 will result in a successful ping to 10.1.1.254 from the management interface?

A. Use the command ping 10.1.1.254 vrf mgmt

B. Use the command ping 10.1.1.254/24

C. Change the Core-1 management address to 10.1.1.1/25 first
D. The destination 10.1.1.254 requires configuring a static route

Answer: A

NEW QUESTION 49
With what other technology does Half Duplex communication closely match?

A. a pair of fiber optic strands allowing transmit on one and receive on the other at the same time
B. a mobile phone call

C. point-to-point connections between two switches allowing concurrent transmit and receive

D. CB radio using push-to-talk

Answer: D

NEW QUESTION 54
What are two features of the three-tier designs? (Choose two.)

. removes the distribution layer in favor of a spine-leaf design used in modern data center deployments

. adds a distribution layer to free up resources from the Core for improved performance and routing throughput

. a more scalable design over by leveraging a distribution layer to handle Layer 3 routing and access control in large deployments
. uses only Layer 2 access on the Access and the Core with Layer 3 routing and access control provided at the distribution layer

. is considered legacy by requiring a large flat layer-two broadcast domain from Core to Access and should be avoided

moQOw@>

Answer: BC

NEW QUESTION 57
Which command will suppress LLDP messages from egressing on a given port while still allowing LLDP to be enabled on the switch?

A. switch(config-if}# no lidp interface (port) transmit
B. switch(config-if)# no lldp transmit

C. switch(config-if)# no lldp receive

D. switch(config)# no lldp

Answer: B

NEW QUESTION 62

What is a benefit of choosing a 3-Tier design with routing at the Aggregation layer?
A. Better Core router performance by offloading processing

B. Shifting endpoint access to the Aggregation layer from the Access layer

C. Using access control lists (ACLs) at the Core to improve performance

D. Connecting WAN/MPLS and Data center access to the Aggregation layer
Answer: A

NEW QUESTION 67
What command displays information regarding the secondary image installed on an AOS-CX switch?
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A. show secondary

B. show version detail
C. show version

D. show images

Answer: D

NEW QUESTION 72
What is the Link Layer Discovery Protocol?

A. a discovery protocol used between Layer 3 devices to determine routes within a single autonomous system

B. a standardized IPv6 neighbor discovery protocol used to replace the ARP and broadcast mechanism used in IPv4
C. a standardized protocol for communicating directly-connected device information and capabilities.

D. an Aruba proprietary discovery protocol supported in all Aruba switches along with Cisco Discovery Protocol or CDP

Answer: C

NEW QUESTION 73
What are two features in a 2-Tier design that are implemented at the Access layer? (Choose two.)

A. VPN access

B. WAN/MPLS connectivity
C. Endpoint Access

D. Deep packet inspection
E. Power over Ethernet

Answer: CE

NEW QUESTION 78
What are two mechanisms supported on AOS-CX 6300 switches used in Multi-active Detection to determine the status of the Primary member? (Choose two.)

A. Management interface split detection
B. Peer switch-based detection

C. Loopback keepalives

D. ARP-based

E. BFD

Answer: AD

NEW QUESTION 79
Aruba Access Points tunnel traffic in a campus to the Mobility Controller using which protocol?

A. Control and Provisioning of Wireless Access Points (CAPWAP)
B. Generic Routing Encapsulation (GRE)

C. Lightweight Access Point Protocol (LWAPP)

D. Process Application Programming Interface (PAPI)

Answer: B

NEW QUESTION 84

Which statement is correct regarding powering an Aruba Access Point?

A. PoE or PoE+ is only used with Ethernet that is carried over multi-mode fiber cabling.

B. Using switchports for this reason is unnecessary, because Aruba Access Points typically use an AC to DC power adapter to draw power.

C. PoE or PoE+ enabled switchports are rarely used given concerns about causing electrical interference, with the data also carried over Ethernet cabling.
D. Most administrators use PoE or POE+ enabled switchports to provide both Ethernet connectivity and power to the AP.

Answer: D

NEW QUESTION 87
Refer to the exhibit.

switch-1(config)# show spanning-tree | exclude Disabled

4+— ——-- output omitted ————»
Port Role State Cost Priority Type
111 Designated Forwarding 4000 128 point_to_point
Lagl _ Forwarding 2000 64 point_to_point
1/1/2 Designated Forwarding 10000 128 point_to_point
1/1/3 Designated Forwarding 20000 128 point_to_point
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Switch-1 is not the root bridge. The ports shown are all the connected pointtopoint interfaces. What Role

(hidden by the blue rectangle) will be assigned to the Lag 1 interface?

A. Alternate
B. Backup

C. Root

D. Designated

Answer: C

NEW QUESTION 89
Refer to the exhibit.

The Aruba 8400 in the exhibit is member 2 of a VSX stack.

Which command will enter the interface sub configuration mode for the port, indicated by the orange square?

A. 8400(config)# interface 2/4/15
B. 8400(config)# interface 1/7/16
C. 8400(config)# interface 1/4/15
D. 8400(config)# interface 2/3/17

Answer: A

NEW QUESTION 94
Which network category applies to a SOHO internal network?

A. SD-WAN
B. LAN

C. WAN

D. Internet

Answer: D

NEW QUESTION 99
Which two options are the Layer 2 protocols? (Choose two.)

A. 802.1Q
B. IPSec
C.STP

D. RIP

E. 802.11af

Answer: AC

NEW QUESTION 101

Which Ethernet port combination does the Aruba 5400R ZL2 switch series support?

A. 10/100 Megabit Ethernet, Gigabit Ethernet, and 100 Gigabit Ethernet

B. Gigabit Ethernet, 25 Gigabit Ethernet, and 40 Gigabit Ethernet

C. 10/100 Megabit Ethernet, Gigabit Ethernet, 25 Gigabit Ethernet, and 100 Gigabit Ethernet
D. 10/100 Megabit Ethernet, Gigabit Ethernet, and 40 Gigabit Ethernet

Answer: D
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NEW QUESTION 102
What is Deep Packet Inspection?

A. a machine learning method of packet inspection for the purpose of choosing which dynamic routing protocol to automatically assign

B. a concept that applies to firewalls, when examining packets only up through Layer 4

C. a function of Policy Based Routing that examines the entire IPv4 header to forward traffic based on factors other than destination address
D. a firewall process of examining the packet header all the way to Layer 7 in order to determine if the packet should be permitted or denied

Answer: D

NEW QUESTION 107

Which two statements accurately describe stacking with Aruba switches? (Choose two.)

A. A VSF stack is allowed between an AOS-CX 6300M and 6300F switches.

B. VSF is a core or aggregation layer stacking technology due to the high resiliency of sharing a single control plane.
C. The VSF feature is not compatible between AOS-CX and AOS platforms.

D. A VSF stack is allowed between an AOS 5400R and an AOS-CX 6400.

E. VSF and VSX are stacking option with the AOS-CX 8320. 8325. 8400. and 6400 models.

Answer: BE

NEW QUESTION 110
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